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The AP Calculus Summer Review
NO CALCULATOR & NO DECIMALS!!!
Let f(x) = x% — 2x + 5. Find the following:
1. f(=2) 2. fx+2) 3. f(x+h)
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Use the graph of f(x) to answer the following.
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f(x) = -3 whenx =?

X=-1.8, 1.5
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Write the equation of the line that meets the following criteria. Use slope-intercept y = mx + b or point

slope form y — y; = m(x — x¢).

5. m=3and (4,-2)
PoINt Slope:
N+a = 3(X-4)

‘/—’ 3% - |Lf-7!

—

V:r‘mx;b

-3+ 3(4)+ b
-4 =b

6. m=-—-—andf( )= 7
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Write the equation of the tangent line shown in slope-intercept form.

7. f(4) = —ga and f(—3) = 12
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8. Theline tangentto f(x)atx =1
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‘Tangent line

9. Theline tangentto f(x) atx = —2
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Y2—¥1
X2—Xq

Multiple Choice! Remember SLOPE =

10. Which of the following represents the slope of the secant line?

A 7-2 B) f(7)-2 ‘ ]

-1 7@ \ 4

\ Vi

7-£(2) (o)) f) - F@ , f(x)

A F-2 = |
; ]
A
// ‘ ¥
Secant line
11. Which of the following represents the slope of the secant line?
\ f(x)
A) f) = f(x+2) (B) fx+2)—f(®)
x+2—x xX+2—-x

fx+2) = () D) x+2-x

. x—f{x+2) fe)=fx+2) ~| Secant line
,‘i‘ xi!
12. Which of the following represents the slope of the secant line?
A) flx+h) —F) B) x—(x+h) )
X =G+ h) Far =1 f&)
NS+ - @) D) f(x)—f(x+h)
Q) x+h—x x+h—x Secant
line
;'. x~;~h
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13. Which of the following statements about f(x) is true? \ .
\F () T 1N
L f@=0 X - \ . :
I. (x+4)isafactorof f(x) vV X= -4 15 0 €00, \ ) \
nm. fG)=f-1n \ , \
A) Ionl EECEY.S \
) Tonly Exy.3 |
B) Ilonly : \
C) lonly . \\
D) Iand Il only . l

65) 11 and 11 only

State the domain and range of the function in interval notation. Find all horizontal and vertical
asymptotes.
14. 15. 16.

Domain: . Domain: _ Domain:
('of‘—'_,’l)U(_'l,I) 0 ( l,oc‘\) (-'Cf*’!"'g')U("i.:'))u(a’":'ﬂ) (—aﬂr&)U(_'f;, “4'.))U(‘3\’00)

Range: _ _ ) Range: Range:
(-o0,3JU(3,00) (=es_ oo) (oo, )
Horizontal Asymptote(s): Horizontal Asymptote(s): Horizontal Asymptote(s):

¥*3 =0 NON<
Vertical Asymptote(s): Vertical Asymptote(s): Vertical Asymptote(s):

X="! =" X=-aA

x‘ - g X - Z)
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Multiple Choice!

17. Which of the following functions has a vertical asymptote at x = 4?

(0
A) x+s5 x?-16 (;4”.3 0 4x /1) o x+6
=y
x2—4 Bl —— x+1 x2 73412
(X-3Xx-H)

E) None of the above

x2-5x+6
18. Consider the function f(x) = iz - Which of the following statements is true?

(X =) %)

I f(x) has a vertical asymptote of x = 2 e
(%<2 M R4eL)

I. -~ f(x) has avertical asymptote of x = -2
II.  f(x) has a horizontal asymptoteof y =1

A) lonly

B) Ilonly

C) IandIll only
(D) Mand Ml only
E) I 1L and III

1 jL:
Rewrite the following using rational exponents. For example, gﬁ = x2/3
X
19.3+V2x 20.vVx+1 21—
“ 315 n ‘fﬁ')‘ f \ Yo | — \
Y 4 (o 3 + 1) \ {) ~. % i) !
\(X, - (¢ x_) | | (x+1) B \ (x 1) la |
R - - —— ;
!
A2 2 A pdiLE e
2.z-7 23 = axs 24. = zl/fi},.w,,,:_.. o
— [ e SECERN .
- ;! y 3~ L, 2l Ly-ta el
\k Y fa _ Ax |\ (4x?)™" + = X %HX ~o)(>(-il) .
. - /
J N y-3 ) L34 | ' | e
| =X "4+ =X
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Rewrite each expression in radical form and positive exponents. For example, X

-2/3 — Faie e
+x s + =
27.3x /2
€ \j X '\‘!_
)

28. (x +4)~ 1z

vt ] il | ——
L i ¢
d ;'N’i { i - - g J i ng C.‘{z )/ ‘i‘t
R ) ﬁ
Solve the following equations. Remember e® = 1 andIn1 = 0
3l.e*+1=2 32.3e*+5=8 33.¢2*=1
N, X“""‘-‘(,_ g = §
_t;ﬂ({ ‘}-P_,,-l 3€x + 5 - 8 L. € AN |

[ x=0 | ge* = 3 &X =O
o O (’/X =) i
(x- 0]
34.Inx =0 35.3—Inx =
12/ <

[ x=1

36.14(3x) = 0
u?’.)11(90‘&
= |

37.x2-3x=0

X(x—ﬁ“éo
[x-0 x=3
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38.e*+xe* =0
exLl+ x)=
{ “11x-0

NOH |

{JD‘:}T 1pIC o

X - ;
¢ =0 | X = - |

39.e* —e* =0

eX(eX-1)+0
{
?*=0
NOH
POoSSibiC

[ x+0]

Le*ﬂ=o
ol X =0l
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You know tng values in radians! You can use the Unit Circle or Special Right Triangles to find the following.

=

= ) T
40. sm6 ; :i 41. cos4 \[J 42. sin 21 l QJ
‘2 e
T ! vc_7!___ -
- ! - T
43.tanm 44, ec~ A———, 45 - |
) =t 7 O |set (B
|_undefined | sl
46. sing Jﬂ% 47. sin%” / - | ] 48 tan-} i jJ
| 2 -
P
49, CSCE f,—iu- § " 50.sinmw r_j = 51 COSE (‘_ j“
sinma 11 QO I 3 9

52. Find x where0 < x < 27

53. Find x where 0 < x < 27

54. Find x where 0 < x < 27

sinx—l tanx =0 cosx = —1
) — . i )
— \ -
| ?_'_\I | ¥X=Q, M ATl \ & _”‘J
‘ X ’:; a,nd (& N B ' S o
Solve the following trig equations where 0 < x < 2m.
[ x-X en X~ (%=X T
i | o = \ (O !-’ !
58.25inx:—'1 , 59.C05x:%§' 60 cos E):ﬁ @ Tik’
e 2 2
SinXx el e T i X = 5 Pl
- © 3 ? A
- I an o : "
X_jﬂ W A oy ) m ( ] x=.’féj X s Jﬁé‘_—_"‘\zﬂ[}\,\f\
= % ; - - 1 P, ,.%
({. i ) B _m B 7_) S j C\‘(\’\e“\j‘}
61. tanx = 0 62.sin(2x) =1 0 =T 63. sin (E) _¥3 ©: M3 , A2
~ e 4 2
]xow&’? ] Ax = 1T - 5
" B A TR T
L 3 7
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State the domain and range of each function.

Function Domain Range
64. f(x) = Vx — (-, 4)u (4, =) (0,)
Xz4 NE
6509 = (r— 3 (-o0,0) P (0,e) y20
66.y = Inx (O ; -=.}fi";) X 70 (- o, J Hﬁf
67.y =e* (——(}()#&—)} (‘V (O}c‘ﬂ) t,;
68.y = V4 —x? -3 27 ({:},v’—.‘
Dexe D 0 <N #d
Simplify.
69. % X" y '3 70. > 71, pl+inx |
¥ X e b, ﬁ;’Mx
Jx M
72.n1 73.Ine” 74.10g; 3
I ;(:;_i iEZ_\J \j}x z _é.‘
| x= -1 )
75.l0gy/2 8 76.In> K COIC 77. 27213
‘ — 2 a ‘J
IR |~0.093 a* - |9
| £==3 N
78. (5a%/%)(4a*?) 79. 12;1‘}1"/;_5 0. (4a§)3/2
I 13/ . )
j a0 oL (oJ Xt”‘l’\! Jie g
- S dﬁ:w;
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Use the functions defined below to determine each of the following.

f(x) ={(3,5),(2,4),(1,7)} h(x) = {(3,2),(4,3),(1,6)
gx)=vVx-3 k(x) =x*+5
81. (f + h)(1) 82. (k— g)(5) 83. f(h(3)) —
P+ Nh(D) (5°+5) - (V6-3) £(20 = | f‘_)‘
14 b [20-va |
n 05|
84. g(k(7)) 85. h(3) 86.9(9(9)
v(3) ‘fgq* 5= H (‘ ‘&_J 9( q) = JL_; .
el JBI U AR
ICORRET 9) V& 3 |

87. f1(4)

00 3(5,3), Ma), 0N}

NONEN

88. k1 (x) e .
\|:x345 'K(»“)“\)X'5]
X = \;‘3"1&5 ' :
N X~ 5

k(g(x)
” (gf,) (Jx-3)
VX3 X-% + 5

90. g(f(2))
f(2) = H
gu) = Nu-3 = VI 5 1}
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Fill out the Unit Circle.

Positive: O1 1) jcSC
?ﬁt:g:ztaw;; COS /’ta\/ri(:]

Positive: ALL :
Negative: NONC

10

e

O 1

Positive: +a,ﬂ / CO‘f’

Nepanive:

SN /COS
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posiive: €05/ SCC
Mepalive: Sl n /of"ﬂ,ﬁ
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